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Practice - Rational Expressions

o

10.

11.

12.

13.

14.

15.

16.

x+5 x+4

X +5c44 x> +13x+36

x+3 x—6

X2 +3x-28 x*+x-20

x+5 x+6

x2=11x+30 x*—12x+35

x+3 x—4

X2—2x—35 x2—14x+49

x+2 x+7

x2—7x+6_x2—6x+5

x=17 x—9

x2—4_x2—ﬁ%44

x+2 x+7
2 T
x —16x+63 x"—T7x-18

x—38 x—38

x2—3x—28 x>—49

x+5 x—06

xX=x-56 x*—4x-32

x—5 x—1

x?=3x-54 x*+8x+12

x+7 x+5

x2+6x+5_x2—3x—4

x—5 x—38

X Hx—42 x*—x-56

x+8 B x—2
x*—8x+16 x*-3x—4

x—3 B x+7

X Hx—12 x*-16
x—9 x—6

2 + 2

X +7x+12 x " +6x+8

x—=2 B x+5
X2 =13x+36 x*—x-T72

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

217.

28.

29.

30.

31.

Date:

X +x-20 x*-3x-4

X2 +2x—35  x2—14x+45

x’+2x—48  x’+2x—48

W +8—-9  x2+7x—18

x2+15x+54x x? +3x-28

X=x—12  x*+15x+54

X’ =x=56 x*—4x+3
X

X 42x-3 x*+6x-7

X =Tx+12 x> —1lx+24

x2+8x+15T X +x—-6

6x2—2x—48x x?+6x+8
3x? +5x—28 4x*—18x+18

52 +34x—7  12x* +24x

Ax* = 24x  3x*+15x—42

X +6x+8 | 4x*+13x+10

X2 +8x+15  20% +2x—40

x*=36  3x*+25x+38

2 X 2
Ox” +3x 4x" —26x+12

X +7x-8 x> —64

82 —16x+6  20x> + 10x— 10

A® —24x—64 4> +16x+16

32 4216430 9x +30x+ 24

25x% +35x + 10
12x% +28x

8x> + 36x
155 —4x—4

2’ —8x—24 . x’—5x—6
6x> —5x—56 2" +11x—63

12x% +53x +56 , 3x” +17x+24
dx—-45 0 xP-5x

XX +x—42 X4x2+24x+20
x*=2x-35 5x*+34x-7

ID:



Practice - Rational Expressions
Answer Section

1. ANS:

Ox? +9x +41
x+dH)x+1)(x+9)

PTS: 1
2. ANS:
22 +9x —27
(x=Dx+T)(x+5)

PTS: 1
3. ANS:
2" —2x 71
(x=3)(x=-6)(x=7)

PTS: 1
4. ANS:
Ox* =5x—1
x=7(x+5)(x=7)

PTS: 1
5. ANS:

Ox? —4x+32
(x—1D(x-6)(x—5)

PTS: 1
6. ANS:

Ox? —3x+31
(x+2)(x=2)(x=7)

PTS: 1
7. ANS:
2 +4x—45
x=9x-T(x+2)

PTS: 1
8. ANS:
Ox’ +3x —24
x=7x+4)(x+7)

PTS: 1
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ANS:
2x% +10x - 22
(x—8)(x+7)(x+4)
PTS: 1
ANS:

2% —13x—1
(x+6)(x=9)(x+2)
PTS: 1
ANS:

Ox” —7x—53
(x+D(x+5)(x—4)
PTS: 1
ANS:

Ox*+x—8
(x+7)(x=6)(x—298)
PTS: 1
ANS:

Ox” + 15x
(x—Hx=-d(x+1)
PTS: 1
ANS:

Ox” — 11x +33
(x+4)(x-3)(x—4)
PTS: 1
ANS:

2x% —10x — 36
(x+4)(x+3)(x+2)
PTS: 1
ANS:

x> +5x+4

(x=9)(x—4)(x+38)

PTS: 1
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ANS:

x—=4)(x+5 x=-9)x-5)
x=3x+7) " x+D)(x-4
PTS: 1

ANS:

(x+8)(x-6) (*x—-2)(x+9)
(19 (x—1) “(x—6)(x +8)
PTS: 1

ANS:

x+9)(x+6) x+7(x-4)
(x—4)(x+3) " (x+6)(x+9)
PTS: 1

ANS:

x+7)(x-8) x-3)(x-1)
x—Dx+3) " x—-Dx+7)
PTS: 1

ANS:

x=3)(x-4) (x-2)(x+3)
(x+3)(x+5) " (x—8)(x=3)
PTS: 1

ANS:

(2x—-6)(3x+8)  (x+2)(x+4)
(x+4)(Bx-7) = (2x-3)(2x-6)
PTS: 1

ANS:

(x+7)(5x-1) (3x+6) (4x)
(4x) (x—6) (Bx—=6)(x+17)
PTS: 1

ANS:

(x+2)(x+4) (2x-8)(x+5)
(x+5)(x+3) " Ax+5(x+2)
PTS: 1

ANS:

(x=6)(x+6) (x+8)(Bx+1)
G+ 1)(3x)  (4x—2)(x—6)

PTS: 1
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31.

ANS:
(x+8)(x-1) (5x+5)(4x-2)

4x—2)(2x-3) * (x—8)(x+8)

PTS: 1
ANS:

(4x+8)(x—8) (Bx+4)(3x+06)
Gx+6)(x+5) < (x+2)(4x+8)

PTS: 1
ANS:
(4x) (2x+9) (5x+5)(5x +2)

(x+2)(3x-2) * (Bx+7)(4x)

PTS: 1
ANS:
(x—6)(2x+4)  (x+9)(2x—7)
(2 —71)Gx+8) X (x+1)(x—6)

PTS: 1

ANS:

(Bx+8)(4x+17) (x)(x—=5)
(-5 (x+9) ~(x+3)(3x+8)

PTS: 1
ANS:

x+7)(x=6) (Ax+4)(x+5)
15 (x-7) G (x+7)

PTS: 1
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